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Grade : 12 Subject : Mathematics
Stream : Advanced Number of page :

Circle the letter corresponding to the correct answer :-_

1) Use the linear approximation ANall L(x) Aadd) qu il aadi) (1
L(x) to estimate the given Cua /6 carall saad) sl

number to f(x) =/2x at x. = 2 xo = 2 def(x) =+/2x
, V6

a)L(x) =0.5x+1,V6 ~ 2.5 b) L(x) = 0.5x —1,V6 ~ 2.5
LX) =08 +1,V6 ~ 4 @l =x+1,V6 ~ 3%
i

o




4) Find the critical number and s all) dadl) da jal) LA 1a ) (4

local extrema of : Alall Aylaall
fx)=x3—-3x>-9x+1 fx)=x3-3x*-9x+1
a) critical number x = 3,—1, maxatx =3 minatx = —1
b) critical number x = 3,—1, maxatx = —1,min atx = 3
¢) critical numberx = —-3,1,maxatx =1 minatx = -3
d) critical number x = -3,1,maxatx = -3 minatx =1

5) Find the absolute maximum Alall d8thaal) aliall dagdl) 33 ) (5
of:f(x) = xe™** f(x) = xe™2*
on interval [0, 1] [0, 1] 3_AdN A




6) Determine the intervals of the Al Je¥ i) & 58 s (6
function is concave up: f(x) = sinx — cosx
f(x) = sinx — cosx on interval [0, 277] 3l 4

a)(—o,0) U (2,)
C) (—OO ’ 1)

o




8) graph the function
fix) =

2Xx
x2 -1

fx) =

Alall Ll anyl (8
2x
x2 -1
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f[2)=0 ,
YV x+2

9) Determine a suitable graph of
a function with the given

properties
f(2)=1,
flix) <0

b)

d)

b g pdd) g8ay ‘_“g.m liall euul\ A (9
)

f2)=1, fi(2)=0 ,
ff(x) <0 ,V x+#2
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10) The shown graph represents a ABidia gl Pl Lila pgusall JS&0) (10

derivative of the function f(x). Ga a9 S Ay f(x) dus f(x) WA
() A0 COEN) Bl a gf, AANEY Ay )

Where f(x)A third-degree
polynomial function. Find
inflection Point for f(x)

N ;

ﬁ S . 5 n
a)(-1,£(-1)) BT .

©) €3,f(-3)) s d) (0,£(0) .}

11) Find the values a , b if the 05 duay a b Aad aagl (11
function dad f(x) = —x3 + ax?® + bx Al

f(x) = —x3+ax®*+ bx has GOai) ddaliy  x = 3 e Adaa e
local minimum at x = 3 and x=1u
inflection point at x = 1




12) Suppose that C(x) = 0.02x? +
2x + 4 is the total cost (in dollars)
for a company to produce x units

of a certain product. Compute the
difference marginal cost and
actual cost at x = 100 (marginal
cost - actual cost)

13) A three-sided fence is to be

Ol oa Al (12
C(x) =0.02x* +2x + 4
A8 Al (¥ 5all) Aallagy) A4l 2

ARl 29l e gilal x Cilaa g Y
vic. Lladl) A1) g danl) ARLST oy
.x=100

b)11.98
d) 6

S il 3 e gl sl 22 (13

built next to a straight section of | g} Gulad) JS&y 53 gl (e auiiesall

river, which forms the fourth
side of a rectangular region. The
enclosed area is to equal 800ft>
. Find the minimum perimeter

a) P = 80
¢) P =100

(& gt Aalaal) dalucal) ¢ Adatioie Adaial
huaall (5 huall dagdll 22 9 800 f 2

b) P = 800
d) P = 400




14) A missile was launched vertically | s ) bl & 5 oba ikl (14
upward at a speed of 150 m/sec, then (M) Al 150 m/sec A
it was detected from a point 300 m i) 3acld e 300 M xS Adals
away from the missile launch base. oabd B padl) Jara aa gl & g kall
Find the rate of change in the Al Aaall) B # g lall gl ) Ayl
measu.rement of tl.1e .angle of T Esuall gl Ayl s
elevation of the missile at the 4

moment when the angle of elevation

of the missile is

COoSX
15) j

— cos*x
a) sinx — lnls.e?ﬁk+ tanx| + ¢ b) secx + ¢
c) —cscx+c¢ wgQf%ﬁcotx+c ﬁ

o




16) Determine the position Ay cuils 1) puda gall Al 22a (16

function if the velocity function PR A
is v(t) =5—-6tft/sec,s(0) =7
v(t) =5—6t ft/sec,s(0) =7

a) s(t) = 5t — 6t> b) s(t) =5t—3t>+7

¢) s(t) = 5t — 3t> d) s(t) =-6

?ind a function f(x) sugh that Flx) D aasi (17
the point (—1,1) is on the graph Jray (—1,1)Akdill
of y= f(x), the slope of the 2 o (—1,1)adadl

o

tangent line at (—1,1) is 2 and| f"'(x) = 6x + 4 A= 4G ddidal) g
"(x) = 6x + 4.

a) f(x) =3x>+4x+3 b) f(x) =3x*+4x+ 2
¢) f(x) =x3+2x%* +3x d) f(x) =x3+2x*+3x+3




19) Use the given function values
to estimate the area under the
curve using right endpoint
evaluation

18) Which is following equals the sums
100

2(1 + 2i) =

ARt Faaaal) Ad)al) e.é padicd (19
ddais aladiuly (adial) Cal ciad Adhatal) daloa
sl Al

0.1/ 0.2|0.3

0.4 0.5|0.6 0.8

2.042.4 2.6 2.7

6 ;2.4 2.0 0.6

ﬁ%)A_174

d) A=6.47




21) Compute the average value
by using geometric formula to
compute the integral

f(x) = V4 — x? on the interval
[0, 2]

a) Average =7
c¢) Average =

4

o

@ils 1) (20

sin x

dt

gx B %/1_— sin2x
sin x cos x
d) = -

Al il Ao gial) Aadl) aa i (21
At Jalsil) alagy uwaigl) ¢yl 5811
[0,2] 35480 2 f(x) = V4 — x?

b) Average = 2m

TC
d) Average = =




22) Find the area of the region O B geanall daluall 2241 (22
, x=3

bounded by y = x3, x = 3 and Gl jsaay y = x5

the x — axis

23) Using Substitution to 23 9 i gailly Jalsil) aladindy (23
Evaluate an Integral Jalsiil)
(tan™1x)? (tan™1x)?
X
1+ x? 1+ x?

n 1x)3

_ e Y
C)égg%+xz ,ln|1+x2£—£wf d) u=x2,ln|x2|ﬁ

¥

tan 1x)3 ta
a)u = tan‘lx,( ) +c bgy;l = (tan‘lx)z,(
: &




24) Write the expression as a aa) g a8 515 g (2 i) (24
single integral

f 3f (x)dx — 3f (x)dx = LB flax= J:f(x)dx }

25) Assume that fls fx)dx =17, fls 2g(x)dx = —4 and find
5
J; 3f(x) — g(x)dx

a) 25 b) 17
c) 19 d) 23




